Answer to Exercise


Chapter 5 HKAS 17 Leases

Answer – Exercise 1

The contracted lease term is only for half of the useful life of the machine and there is no strong likelihood that the company will exercise the option in four years’ time, because the option is priced at fair value, not a discount. Thus the risks and rewards of ownership have not passed to the lessee and these lease should be treated as an operating lease.

Answer – Exercise 2

Allocate finance charge on an actuarial basis.

	1
	2
	3
	4
	5
	6

	Year
	Capital sum at start of period
	Lease payment
	Sub-total
	Finance charge at 15.15% pa
	Capital at year end

	
	$
	$
	$
	$
	$

	2008
	20,000
	5,200
	14,800
	2,242
	17,042

	2009
	17,042
	5,200
	11,842
	1,794
	13,636

	2010
	13,636
	5,200
	8,436
	1,278
	9,714

	2011
	9,714
	5,200
	4,514
	686
	5,200

	2012
	5,200
	5,200
	-
	-
	-


Non-current liability at 31 December 2008

	Amounts due under finance lease (17,042 – 5,200)
	$11,842


In this situation the lease payments are in advance. So the next payment is due in 1 day and the year end current liability includes the current year’s finance charge (which has accrued but not been paid). To calculate the non-current liability, the full amount of the next payment is deducted from the year end capital balance.

Answer – Exercise 3

(a)

The annual rental charge will be $880,000. Boro will pay $8,800,000 over the ten years of the lease. (There is one rent-free year and Boro receives $200,000 towards its relocation costs.)

(b)

At the end of Year 1 there will be an accrual of $1,080,000 in the statement of financial position. This is because Boro will have charged $880,000, but paid nothing and received $200,000 of incentives. The chart below shows how the accrual gets used up over the life of the lease.

	
	A
	B
	A – B
	
	

	Year
	Cash payment
	Charge
	Difference
	Cumulative difference
	

	
	$000
	$000
	$000
	$000
	

	1
	(200)
	880
	– 1,080
	– 1,080
	Accrual

	2
	1,000
	880
	+120
	– 960
	

	3
	1,000
	880
	+120
	– 840
	

	4
	1,000
	880
	+120
	– 720
	

	5
	1,000
	880
	+120
	– 600
	

	6
	1,000
	880
	+120
	– 480
	

	7
	1,000
	880
	+120
	– 360
	

	8
	1,000
	880
	+120
	– 240
	

	9
	1,000
	880
	+120
	– 120
	

	10
	1,000
	880
	+120
	Nil
	

	
	8,800
	8,800
	
	
	

	
	Cash flow statement
	Income statement
	
	Statement of financial position
	


(c)

Extracts from the notes to the balance sheet at the end of Year 1 Boro is committed to making the following minimum lease payments under non-cancellable operating lease agreements:

	
	$

	Within one year
	1,000,000

	Between two to five years
	4,000,000

	After five years
	4,000,000

	
	9,000,000


Answer – Exercise 4

(a)

The annual rental income will be $85,000. The total cash income over the seven years of the lease is $595,000. This is claimed on a straight-line basis.

(b)
Extracts from the income statement and statement of financial position for 2008 and 2009.

	
	2008
	2009

	Income statement
	$
	$

	Operating income: Rentals receivable
	85,000
	85,000

	Operating expenses: Depreciation
	(35,200)
	(35,200)

	
	49,800
	49,800

	
	
	

	Statement of financial position
	
	

	Non-current assets
	
	

	Equipment held for use in operating leases
	
	

	Cost
	880,000
	880,000

	Accumulated Depreciation
	(35,200)
	(70,400)

	Net book value
	844,800
	809,600

	
	
	

	Non-current liabilities
	
	

	Deferred income
	75,000
	75,000

	
	
	

	Current liabilities
	
	

	Deferred income
	15,000
	15,000


Working for deferred income

	
	A
	B
	A – B
	

	Year
	Cash received
	Income claimed
	Difference
	Cumulative difference

	
	$
	$
	$
	$

	2008
	175,000
	85,000
	90,000
	90,000

	2009
	70,000
	85,000
	(15,000)
	75,000


(c)

Oroc has the following minimum non-cancellable lease payments receivable at the statement of financial position date:

	
	2008
	2009

	
	$
	$

	Within one year
	70,000
	70,000

	Between two to five years
	280,000
	280,000

	After five years
	70,000
	0

	
	420,000
	350,000


Answer – Exercise 5

(a)

Finance lease – A finance lease is a lease that transfers substantially all the risks and rewards incident to ownership of an asset. Title may or may not eventually be transferred. [2 marks]

Operating lease – An operating lease is a lease other than a finance lease. [1 mark]

Fair value – Fair value is the amount for which an asset could be exchanged or a liability settled between knowledgeable willing parties in an arm’s length transaction. [2 marks]

(b)

Examples of situations which would normally lead to a lease being classified as a finance lease:

(i)
the lease transfers ownership of the asset to the lessee by the end of the lease term; [1 mark]

(ii)
the lease term is the major part of the economic life of the asset even if title is not transferred; [1 mark]

(iii)
at the inception of the lease the present value of the minimum lease payments amounts to at least substantially all of the fair value of the leased asset. [1 mark]

(c)

Machine X

This is an operating lease in which the lease term is not equal to the major part of the asset’s useful life and the present value of the minimum lease payments is below 90% of the asset’s fair value. [1 mark]

	Income statement (extract):
	Operating lease rental expenses

$(6,000 + 6,000 x 4/6)
	$10,000
	[0.5 mark]

	Balance sheet (extract):
	Trade and other payables
	$4,000
	[0.5 mark]


Machine Y

This is a finance lease as the lease term is equal to the major part of asset’s useful life, and the present value of the minimum lease payments is over 90% of asset’s fair value, which is calculated as:

$15,000 x 4.1114 = $61,671 [1 mark]

Workings of interest allocation
	
	$000
	

	Total lease payments, 6 years x $15,000
	90,000
	

	Cash purchase price (given in the question)
	48,000
	

	Interest
	42,000
	[1 mark]


Sum of digits method

	Year
	Digits
	Proportion allocated
	Finance charge

	
	
	
	$

	1999
	6
	6/21
	12,000

	2000
	5
	5/21
	10,000

	2001
	4
	4/21
	8,000

	2002
	3
	3/21
	6,000

	2003
	2
	2/21
	4,000

	2004
	1
	1/21
	2,000

	
	21
	
	42,000




[1.5 marks]

This will cause the interest expenses of $10,000 to be shown in the income statement for the year ended 31 December 2000.

	Depreciation charge (straight line)
	$48,000 / 6 years
	$8,000 [1 mark]


This would give a fixed asset value of $48,000 at cost, accumulated depreciation of $16,000 ($8,000 x 2), and net book value of $32,000 in the balance sheet as at 31 December 2000. [1 mark]

Current liabilities:

	Obligations under finance lease
	($15,000 – $8,000)
	$7,000 [1]


Long-term liabilities:

	Obligations under finance lease
	($45,000 – $6,000 – $4,000 – $2,000)
	$33,000 [1]


Machine Z

This is a finance lease as for Machine Z.

The present value of the minimum lease payments at the time of purchase is calculated as:

= $5,000 x 3.6048 = $18,024 [1 mark]

Workings of interest allocation

	
	$000
	

	Total rental payments, 5 years x $5,000
	25,000
	

	Present value of minimum lease payments
	18,024
	

	Interest
	6,976
	[1 mark]


Sum of digits method

	Year
	Digits
	Proportion allocated
	Finance charge

	
	
	
	$

	2000
	5
	5/15
	2,325

	2001
	4
	4/15
	1,860

	2002
	3
	3/15
	1,395

	2003
	2
	2/15
	930

	2004
	1
	1/15
	466

	
	15
	
	6,976




[1.5 marks]

This will cause the interest expenses of $2,325 to be shown on the income statement for the year ended 31 December 2000.

	Depreciation charge (straight line)
	$18,024 / 5 years
	$3,605 [1]


This would give a fixed asset value of $18,024 at cost, accumulated depreciation of $3,605, and net book value of $14,419 in the balance sheet as at 31 December 2000. [1 mark]

Current liabilities:

	Obligations under finance lease
	($5,000 – $1,860)
	$3,140 [1]


Non-current liabilities:

	Obligations under finance lease
	($15,000 – $1,395 – $930 – $466)
	$12,209 [1]



P. 1

